Sales Variance Analysis
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L};iﬁ;ng Objectives
W orstand static budgets

1 Underst ,_ variances and s
. Calculate flexible-budget variances and 5

yariances .

3 Calculate s
1 Subdivide the sales-vo
yariance and the sales-quantity variance .

fﬁjﬁ{é_égcond chapter, the fixed budget and the flexible
budget were discussed and each was prepared to reflect its
role in achieving control over the elements of costs and the
level of inputs and the focus was on factory overhead
costs. In this chapter, the subject of the two budgets will be
expanded in two terms of their role in evaluating the
operational performance of the economic unit starting
from sales revenue to operating income. As a result, the
evaluation process will result in a variance which
represents the difference between the actual results and the
budget figures. This variance can be analyzed into its
components Quality required. In order to shed more
attention on the subject, we take the first example, which
data below is related to an industrial company, and the
beginning will be under the assumption that the company
produces and sells only one product, the jacket and that all
the units that have been produced from the jackets have
been sold and there is no inventory at the beginning or the

end of the period.
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t is clear from Schedule (1-8) that the static budget

ariance that is unfavorable for the operating income of
393100) can be calculated by subtracting the operating
mcome according to the static budget ($ 108000) from the

actuzal operating income of ($ 14900),

I'he analysis in Schedy

additional

. le (8-1)provides managers W!
information on the static budget variance ”
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perating  income  of $93.100 U. The more detaile
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F]exible«-hudgct revenues = S120 per jacket * 10.000

ckets = $1,200,000
¥ -

Step 3 Determine the costs according to the flevible
'budgct based on the budgeted variable cost of the unit.
the Actual Quantity of Output, and the budgeted fived
COStS.
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- Flexible-budget variable costs
“Direct materials, 560 per jacket * 10,000 jackets S 600.000
- Direct manufacturing labor, $16 per jacket * 10,000 160,000
_jackets

“Variable manufacturing overhead, $12 per jacket = 120,000
10,000 jackets

. Total flexible-budget variable costs . T G;Sg;mm
" Flexible-budget fixed costs - ._g"%(@;} |
“Flexible-budget total costs 81,156,000

These three steps gnabie Webb to prepare a flexible
budget, as shown in Schedule (8-2 ), mlumm _3} the
flexible budget allows for a more detailed analysis of the
$93,100 unfavorable static-budget vanance for operating
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Schedule (8-2) shows that the variance of the static budget
is analyzed into two variances: a flexible-budget variance
of ($29.100 U) and a sales-volume variance of ($64,000
U). The sales-volume variance is the difference between
a flexible-budget amount and the corresponding static-
budget amount. The flexible-budget variance 1S the
difference between an actual result and the corresporlding
flexible-budget amount,
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